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QUESTION 1

Which security services are natively provided by NSX-T Data Center?
A. Network introspection

B. Endpoint protection

C. Distributed IDS

D. Anti-virus protection

Correct Answer: B

QUESTION 2

Which component is required to use VMware Distributed vSwitches (vDS)?
A. VMware NSX-T

B. VMware SD-WAN

C. VMware Identity Manager

D. VMware vCenter Server

Correct Answer: A

Reference: https://www.altaro.com/vmware/vsphere-distributed-switch-guide/

QUESTION 3

How are NSX managed compute endpoints called?
A. Transport Zone

B. vSphere Node

C. Transport Node

D. Compute Node

Correct Answer: C

Reference: https://www.uk.insight.com/en-gb/content-and-resources/articles/cloud-hub/2018-02-12-hybrid-cloud-
networking-with-vmware-nsx-t

QUESTION 4
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Which two statements are true about N-VDS/VDS? (Choose two.)

A. KVM hosts support both N-VDS and VDS.

B. It is a module deployed in all transport nodes that provides L2 functionality.
C. Itis a module deployed in all transport nodes that provides L3 functionality.
D. ESXi hosts support both N-VDS and VDS.

E. Bare-metal servers support both N-VDS and VDS.

Correct Answer: CD

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.3/com.vmware.nsxt.install.doc/GUID-
F47989B2-2B9D-4214-B3BA-5DDF66A1BOE6.html

QUESTION 5

What can a service provider achieve for customers with the aid of NSX-T Tier-0 and Tier-1 Gateways?
A. Quality of service

B. Multi-tenancy

C. High availability

D. Micro-segmentation

Correct Answer: D
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